# International Journal of Mathematical Archive-5(3), 2014, 34-37 <br> MMA Available online through www.ijma.info ISSN 2229-5046 <br> COUPLED FIXED POINT THEOREM IN G - METRIC SPACES 

Hans Raj ${ }^{\text {* }}$ and Ajay Singh ${ }^{2}$<br>1,2Department of Mathematics, DCR University of Sci. and Tech., Haryana, India.

(Received on: 20-02-14; Revised \& Accepted on: 12-03-14)


#### Abstract

In this manuscript, we shall prove a coupled fixed point theorem in which the mapping satisfies a contractive condition. In our result we use the concept of $g$-monotone mapping in $G$-metric space. Our result is modified conversion of Rajesh Shrivastava et al. [1] into G-metric space.


Keywords: G-metric space, coupled fixed point, mixed monotone, coupled common fixed point, mixed g-monotone mapping.

## INTRODUCTION

Fixed point theory has a wide application in almost all fields of sciences, such as Chemistry, Economics and many branches of engineering. Banach contraction principle is one of the care subject that has been studied.

The notion of $\varphi$-contraction was given by Boyd and Wong [2] in 1969. The definition of coupled fixed point was given by Gnana-Bhaskar and Lakshmikantham [3] in 2006. Many results were obtained on coupled fixed point. The notion of G-metric space was introduced by Mustafa and Sims [4] in 2006. They proved some fixed point theorems under certain conditions in this space.

## PRELIMINARIES

Definition: 1.1 (See [4]) Let $X$ be a nonempty set, and let $G: X \times X \times X \rightarrow R^{+}$, be a function satisfying:
(G1) $G(x, y, z)=0$ if $x=y=z$
(G2) $0<G(x, x, y)$, for all $x, y \in X$; with $x \neq y$,
(G3) $G(x, x, y) \leq G(x, y, z)$, for all $x, y, z \in X$ with $z \neq y$,
(G4) $G(x, y, z)=G(x, z, y)=G(y, z, x)=\ldots$, (symmetry in all three variables), and
(G5) $G(x, y, z) \leq G(x, a, a)+G(a, y, z)$, for all $x, y, z, a \in X$, (rectangle inequality),
then the function $G$ is called a generalized metric, or, more specifically a $G$ - metric on $X$, and the pair $(X, G)$ is a $G$-metric space.

Definition: 1.2 Let ( $\mathrm{X}, \leq$ ) be a partially ordered set and $\mathrm{F}: \mathrm{X} \times \mathrm{X} \rightarrow \mathrm{X}$ be a mapping. F is said to have the mixed monotone property if $F(x, y)$ is monotone non-decreasing in $x$ and is monotone non-increasing in $y$, that is, for any $x, y \in X, x_{1} \leq x_{2} \Rightarrow F\left(x_{1}, y\right) \leq F\left(x_{2}, y\right)$, for $x_{1}, x_{2} \in X$ and $y_{1} \leq y_{2} \Rightarrow F\left(x, y_{2}\right) \leq F\left(x, y_{1}\right)$, for $\mathrm{y}_{1}, \mathrm{y}_{2} \in \mathrm{X}$.

Definition: 1.3 (See [3]). An element ( $x, y$ ) $\in X \times X$ is said to be a coupled fixed point of the mapping $F: X \times X \rightarrow X$ if $F(x, y)=x$ and $F(y, x)=y$.

Definition: 1.4 (See [5]) An element $\mathrm{x}, \mathrm{y} \in \mathrm{X}$ is called a coupled coincidence point of the mapping $\mathrm{F}: \mathrm{X} \times \mathrm{X} \rightarrow \mathrm{X}$ and $g: X \rightarrow X$ if, $F(x, y)=g(x), F(y, x)=g(y)$

Definition: 1.5 Let ( $\mathrm{X}, \leq$ ) be an ordered set and $\mathrm{F}: \mathrm{X} \times \mathrm{X} \rightarrow \mathrm{X}$ and $\mathrm{g}: \mathrm{X} \times \mathrm{X}$. The mapping F is said to has the mixed g- monotone property if F is g - monotone non-decreasing in its first argument and is g - monotone non-increasing in its second argument, that is, for any $\mathrm{x}, \mathrm{y} \in \mathrm{X}, \mathrm{x}_{1}, \mathrm{x}_{2} \in \mathrm{X}, \mathrm{g}\left(\mathrm{x}_{1}\right) \leq \mathrm{g}\left(\mathrm{x}_{2}\right) \Rightarrow \mathrm{F}\left(\mathrm{x}_{1}, \mathrm{y}\right) \leq \mathrm{F}\left(\mathrm{x}_{2}, \mathrm{y}\right)$ and $\mathrm{y}_{1}, \mathrm{y}_{2} \in \mathrm{X}, \mathrm{g}\left(\mathrm{y}_{1}\right) \leq \mathrm{g}\left(\mathrm{y}_{2}\right) \Rightarrow$ $\mathrm{F}\left(\mathrm{y}_{2}, \mathrm{x}\right) \leq \mathrm{F}\left(\mathrm{y}_{1}, \mathrm{x}\right)$

> Corresponding author: Hans Raj ${ }^{*}{ }^{*}$
> 1,2Department of Mathematics, DCR University of Sci. and Tech., Haryana, India.
> ${ }^{1 * *}$ Email: math.hansraj@gmail.com

Definition: 1.6 (See [5]) Let $X$ be non empty set and $F: X \times X \rightarrow X$ and $g: X \rightarrow X$ one says $F$ and $g$ are commutative if, $g(F(x, y))=F(g(x), g(y))$, for all $x, y \in X$.

## MAIN RESULTS

In this paper we extend the result of Rajesh Shrivastava et.al. [3] in G-Metric space, which is given as below,
Theorem: 1.7 Let $(X, \leq)$ be a partially ordered set and suppose there is a metric $G$ on $X$ such that ( $X, G$ ) is a complete $G$ - metric space. Suppose $\mathrm{F}: \mathrm{X} \times \mathrm{X} \rightarrow \mathrm{X}$ and $\mathrm{g}: \mathrm{X} \rightarrow \mathrm{X}$ are such that F has the mixed g - monotone property and
$\begin{aligned} G(F(x, y), F(u, v), F(u, v)) \leq p \max & \{G(g(x), F(x, y), F(x, y)), G(g(u), F(u, v), F(u, v))\} \\ + & q \max \{G(g(x), F(u, v), F(u, v)), G(g(u), F(x, y), F(x, y))\end{aligned}$
for all $\mathrm{x}, \mathrm{y}, \mathrm{u}, \mathrm{v} \in \mathrm{X}$ and $\mathrm{p}, \mathrm{q} \in[0,1)$ such that $0 \leq \mathrm{p}+\mathrm{q}<1$ with $\mathrm{g}(\mathrm{x}) \geq \mathrm{g}(\mathrm{u})$ and $\mathrm{g}(\mathrm{y}) \leq \mathrm{g}(\mathrm{v})$.
Suppose that $F(X \times X) \subseteq g(X), g$ is continuous and also suppose either
i. If a non decreasing sequence $x_{n} \rightarrow x$, then $x_{n} \leq x$, for all $n$,
ii. If a non increasing sequence $y_{n} \rightarrow y$, then $y \leq y_{n}$, for all $n$.

If there exist $\mathrm{x}_{0}, \mathrm{y}_{0} \in \mathrm{X}$ such that $\mathrm{g}\left(\mathrm{x}_{0}\right) \leq \mathrm{F}\left(\mathrm{x}_{0}, \mathrm{y}_{0}\right)$ and $\mathrm{g}\left(\mathrm{y}_{0}\right) \geq \mathrm{F}\left(\mathrm{x}_{0}, \mathrm{y}_{0}\right)$. Then there exist $\mathrm{x}, \mathrm{y} \in \mathrm{X}$ such that
$\mathrm{g}\left(\mathrm{x}_{0}\right) \leq \mathrm{F}\left(\mathrm{x}_{0}, \mathrm{y}_{0}\right)$ and $\mathrm{g}\left(\mathrm{y}_{0}\right) \geq \mathrm{F}\left(\mathrm{x}_{0}, \mathrm{y}_{0}\right)$.
Since $g(x)=F(x, y)$ and $g(y)=F(y, x)$.
Proof: Let $x_{0}, y_{0} \in X$ be such that $g\left(x_{0}\right) \leq F\left(x_{0}, y_{0}\right)$ and $g\left(y_{0}\right) \geq F\left(x_{0}, y_{0}\right)$. Since $F(X \times X) \subseteq g(X)$, we can choose $x_{1}, y_{1} \in X$ such that $g\left(x_{1}\right)=F\left(x_{0}, y_{0}\right)$ and $g\left(y_{1}\right)=F\left(y_{0}, x_{0}\right)$. Again from $F(X \times X) \subseteq g(X)$, we can choose $x_{2}, y_{2} \in X$ such that $g\left(x_{2}\right)=F\left(x_{1}, y_{1}\right)$ and $g\left(y_{2}\right)=F\left(y_{1}, x_{1}\right)$. Continuing the process we can construct sequence $x_{n}$ and $y_{n}$ in $X$ such that
$g\left(x_{n+1}\right)=F\left(x_{n}, y_{n}\right)$ and $g\left(y_{n+1}\right)=F\left(y_{n}, x_{n}\right)$ for all $n \geq 0$.
We shall show that $g\left(x_{n}\right) \leq g\left(x_{n+1}\right)$ for all $n \geq 0$.
and $\mathrm{g}\left(\mathrm{y}_{\mathrm{n}}\right) \geq \mathrm{g}\left(\mathrm{y}_{\mathrm{n}+1}\right)$ for all $\mathrm{n} \geq 0$
For this we shall use the mathematical induction. Let $n=0$. Since $g\left(x_{0}\right) \leq F\left(x_{0}, y_{0}\right)$ and $g\left(y_{0}\right) \geq F\left(x_{0}, y_{0}\right)$ and as $\mathrm{g}\left(\mathrm{x}_{1}\right)=\mathrm{F}\left(\mathrm{x}_{0}, \mathrm{y}_{0}\right)$ and $\mathrm{g}\left(\mathrm{y}_{1}\right)=\mathrm{F}\left(\mathrm{y}_{0}, \mathrm{x}_{0}\right)$, we have $\mathrm{g}\left(\mathrm{x}_{0}\right) \leq \mathrm{g}\left(\mathrm{x}_{1}\right)$ and $\mathrm{g}\left(\mathrm{y}_{0}\right) \geq \mathrm{g}\left(\mathrm{y}_{1}\right)$. Thus (3) and (4) hold for $\mathrm{n}=0$.

Suppose now (3) and (4) holds for some fixed $\nsupseteq 0$. Then, since $g\left(x_{n}\right) \leq g\left(x_{n+1}\right)$ and $g\left(y_{n+1}\right) \geq g\left(y_{n}\right)$, and as $F$ has the mixed g- monotone property, then we have
$g\left(x_{n+1}\right)=F\left(x_{n}, y_{n}\right) \leq F\left(x_{n+1}, y_{n}\right)$,
$\mathrm{F}\left(\mathrm{y}_{\mathrm{n}+1}, \mathrm{x}_{\mathrm{n}}\right) \leq \mathrm{F}\left(\mathrm{y}_{\mathrm{n}}, \mathrm{x}_{\mathrm{n}}\right)=\mathrm{g}\left(\mathrm{y}_{\mathrm{n}+1}\right)$
and
$g\left(x_{n+2}\right)=F\left(x_{n+1}, y_{n+1}\right) \geq F\left(x_{n+1}, y_{n}\right)$
and $\mathrm{F}\left(\mathrm{y}_{\mathrm{n}+2}, \mathrm{x}_{\mathrm{n}}\right) \geq \mathrm{F}\left(\mathrm{x}_{\mathrm{n}+1}, \mathrm{y}_{\mathrm{n}}\right)=\mathrm{g}\left(\mathrm{y}_{\mathrm{n}+2}\right)$
Now from (5) - (8) we get $g\left(x_{n+1}\right) \leq g\left(x_{n+2}\right)$
and $g\left(y_{n+1}\right) \geq g\left(y_{n+2}\right)$
Thus by the mathematical induction, we conclude that (5) - (8) holds for all $\mathrm{n} \geq 0$. Therefore,
$\mathrm{g}\left(\mathrm{x}_{0}\right) \leq \mathrm{g}\left(\mathrm{x}_{1}\right) \leq \mathrm{g}\left(\mathrm{x}_{2}\right) \leq \mathrm{g}\left(\mathrm{x}_{3}\right) \leq \ldots \ldots \ldots . . . \leq \mathrm{g}\left(\mathrm{x}_{\mathrm{n}}\right) \leq \mathrm{g}\left(\mathrm{x}_{\mathrm{n}+1}\right) \leq \ldots \ldots \ldots$ and
$g\left(y_{0}\right) \geq g\left(y_{1}\right) \geq g\left(y_{2}\right) \geq g\left(y_{3}\right) \geq \ldots \ldots \ldots . . . . \quad g\left(y_{n}\right) \geq g\left(y_{n+1}\right) \geq$. $\qquad$
Since, $\mathrm{g}\left(\mathrm{x}_{\mathrm{n}-1}\right) \leq \mathrm{g}\left(\mathrm{x}_{\mathrm{n}}\right)$ and $\mathrm{g}\left(\mathrm{y}_{\mathrm{n}-1}\right) \geq \mathrm{g}\left(\mathrm{y}_{\mathrm{n}}\right)$
$\mathrm{G}\left(\mathrm{g}\left(\mathrm{x}_{\mathrm{n}}\right), \mathrm{g}\left(\mathrm{x}_{\mathrm{n}+1}\right), \mathrm{g}\left(\mathrm{x}_{\mathrm{n}+1}\right)\right)=\mathrm{G}\left(\mathrm{F}\left(\mathrm{x}_{\mathrm{n}-1}, \mathrm{y}_{\mathrm{n}-1}\right), \mathrm{F}\left(\mathrm{x}_{\mathrm{n}}, \mathrm{y}_{\mathrm{n}}\right), \mathrm{F}\left(\mathrm{x}_{\mathrm{n}}, \mathrm{y}_{\mathrm{n}}\right)\right)$ by using, (1) and (2) we have,
$\mathrm{G}\left(\mathrm{F}\left(\mathrm{x}_{\mathrm{n}-1}, \mathrm{y}_{\mathrm{n}-1}\right), \mathrm{F}\left(\mathrm{x}_{\mathrm{n}}, \mathrm{y}_{\mathrm{n}}\right), \mathrm{F}\left(\mathrm{x}_{\mathrm{n}}, \mathrm{y}_{\mathrm{n}}\right)\right) \leq \mathrm{p} \max \left\{\mathrm{G}\left(\mathrm{g}\left(\mathrm{x}_{\mathrm{n}-1}\right), \mathrm{F}\left(\mathrm{x}_{\mathrm{n}-1}, \mathrm{y}_{\mathrm{n}-1}\right), \mathrm{F}\left(\mathrm{x}_{\mathrm{n}-1}, \mathrm{y}_{\mathrm{n}-1}\right)\right), \mathrm{G}\left(\mathrm{g}\left(\mathrm{x}_{\mathrm{n}}\right), \mathrm{F}\left(\mathrm{x}_{\mathrm{n}}, \mathrm{y}_{\mathrm{n}}\right), \mathrm{F}\left(\mathrm{x}_{\mathrm{n}}, \mathrm{y}_{\mathrm{n}}\right)\right)\right\}$ $+q \max \left\{G\left(g\left(x_{n-1}\right), F\left(x_{n-1}, y_{n-1}\right), F\left(x_{n-1}, y_{n-1}\right)\right), G\left(g\left(x_{n}\right), F\left(x_{n}, y_{n}\right), F\left(x_{n}, y_{n}\right)\right)\right\}$.

This gives,
$G\left(g\left(x_{n}\right), g\left(x_{n+1}\right), g\left(x_{n+1}\right)\right) \leq p \max \left\{G\left(g\left(x_{n-1}\right), g\left(x_{n}\right), g\left(x_{n}\right)\right), G\left(g\left(x_{n}\right), g\left(x_{n+1}\right), g\left(x_{n+1}\right)\right)\right\}$
$+q \max \left\{G\left(g\left(x_{n}\right), g\left(x_{n}\right), g\left(x_{n}\right)\right), G\left(g\left(x_{n-1}\right), g\left(x_{n+1}\right), g\left(x_{n+1}\right)\right)\right\}$
$\mathrm{G}\left(\mathrm{g}\left(\mathrm{x}_{\mathrm{n}}\right), \mathrm{g}\left(\mathrm{x}_{\mathrm{n}+1}\right), \mathrm{g}\left(\mathrm{x}_{\mathrm{n}+1}\right)\right) \leq \frac{p+q}{1-q} \mathrm{G}\left(\mathrm{g}\left(\mathrm{x}_{\mathrm{n}-1}\right), \mathrm{g}\left(\mathrm{x}_{\mathrm{n}}\right), \mathrm{g}\left(\mathrm{x}_{\mathrm{n}}\right)\right)$
Similarly, from (1) and (2), as $g\left(y_{n}\right) \leq g\left(y_{n-1}\right)$ and $g\left(x_{n}\right) \geq g\left(x_{n-1}\right)$
$G\left(g\left(y_{n+1}\right), g\left(y_{n}\right), g\left(y_{n}\right)\right)=G\left(F\left(y_{n}, x_{n}\right), F\left(y_{n-1}, x_{n-1}\right), F\left(y_{n-1}, x_{n-1}\right)\right)$
$\left.G\left(F\left(y_{n}, x_{n}\right), F\left(y_{n-1}, x_{n-1}\right), F\left(y_{n-1}, x_{n-1}\right)\right) \leq p \max \left\{G g\left(y_{n}\right), F\left(y_{n}, x_{n}\right), F\left(y_{n}, x_{n}\right)\right), G\left(g\left(y_{n-1}\right), F\left(y_{n-1}, x_{n-1}\right), F\left(y_{n-1}, x_{n-1}\right)\right)\right\}$
$\left.+q \max \left\{G\left(g\left(y_{n}\right), F\left(y_{n-1}, x_{n-1}\right), F\left(y_{n-1}, x_{n-1}\right)\right), G g\left(y_{n-1}\right), F\left(y_{n}, x_{n}\right), F\left(y_{n}, x_{n}\right)\right)\right\}$
$G\left(g\left(y_{n+1}\right), g\left(y_{n}\right), g\left(y_{n}\right)\right) \leq p \max \left\{G\left(g\left(y_{n}\right), g\left(y_{n+1}\right), g\left(y_{n+1}\right)\right), G\left(g\left(y_{n-1}\right), g\left(y_{n}\right), g\left(y_{n}\right)\right)\right\}$ $+q \max \left\{G\left(g\left(y_{n}\right), g\left(y_{n}\right), g\left(y_{n}\right)\right), G\left(g\left(y_{n-1}\right), g\left(y_{n+1}\right), g\left(y_{n+1}\right)\right)\right\}$
$\mathrm{G}\left(\mathrm{g}\left(\mathrm{y}_{\mathrm{n}+1}\right), \mathrm{g}\left(\mathrm{y}_{\mathrm{n}}\right), \mathrm{g}\left(\mathrm{y}_{\mathrm{n}}\right)\right) \leq \frac{p+q}{1-q} \mathrm{G}\left(\mathrm{g}\left(\mathrm{y}_{\mathrm{n}-1}\right), \mathrm{g}\left(\mathrm{y}_{\mathrm{n}}\right), \mathrm{g}\left(\mathrm{y}_{\mathrm{n}}\right)\right)$
Let us denote $\frac{p+q}{1-q}=\mathrm{h}$ and, $\mathrm{G}\left(\mathrm{g}\left(\mathrm{x}_{\mathrm{n}}\right), \mathrm{g}\left(\mathrm{x}_{\mathrm{n}+1}\right), \mathrm{g}\left(\mathrm{x}_{\mathrm{n}+1}\right)\right)+\mathrm{G}\left(\mathrm{g}\left(\mathrm{y}_{\mathrm{n}+1}\right), \mathrm{g}\left(\mathrm{y}_{\mathrm{n}}\right), \mathrm{g}\left(\mathrm{y}_{\mathrm{n}}\right)\right)=\mathrm{d}_{\mathrm{n}}$ then by adding (11) and (12),
we get $\quad d_{n} \leq h d_{n-1} \leq h 2 d_{n-2} \leq h 3 d_{n-3} \leq \ldots . . . \leq h n d_{0}$, which implies that,
$\lim _{n \rightarrow \infty} d_{n}=0$ Thus, $\lim _{n \rightarrow \infty} G\left(g\left(x_{n}\right), g\left(x_{n+1}\right), g\left(x_{n+1}\right)\right)=\lim _{n \rightarrow \infty} G\left(g\left(y_{n+1}\right), g\left(y_{n}\right), g\left(y_{n}\right)\right)=0$
For each $\mathrm{m} \geq \mathrm{n}$ we have,
$G\left(g\left(x_{n}\right), g\left(x_{m}\right), g\left(x_{m}\right)\right) \leq G\left(g\left(x_{n}\right), g\left(x_{n+1}\right), g\left(x_{n+1}\right)\right)+G\left(g\left(x_{n}\right), g\left(x_{n+2}\right), g\left(x_{n+2}\right)\right)+\ldots \ldots .+G\left(g\left(x_{m-1}\right), g\left(x_{m}\right), g\left(x_{m}\right)\right)$ and
$G\left(g\left(y_{n}\right), g\left(y_{m}\right), g\left(y_{m}\right)\right) \leq G\left(g\left(y_{n}\right), g\left(y_{n+1}\right), g\left(y_{n+1}\right)\right)+G\left(g\left(y_{n}\right), g\left(y_{n+2}\right), g\left(y_{n+2}\right)\right)+\ldots \ldots .+G\left(g\left(y_{m-1}\right), g\left(y_{m}\right), g\left(y_{m}\right)\right)$
By adding the both of above, we get
$G\left(g\left(x_{n}\right), g\left(x_{m}\right), g\left(x_{m}\right)\right)+G\left(g\left(y_{n}\right), g\left(y_{m}\right), g\left(y_{m}\right)\right) \leq \frac{h^{n}}{1-h} d_{0}$ which implies,
$\lim _{n \rightarrow \infty} G\left(g\left(x_{n}\right), g\left(x_{m}\right), g\left(x_{m}\right)\right)+G\left(g\left(y_{n}\right), g\left(y_{m}\right), g\left(y_{m}\right)\right)=0$

Therefore, $g\left(x_{n}\right)$ and $g\left(y_{n}\right)$ are Cauchy sequence in $X$. since $X$ is complete metric space, there exist $x, y \in X$ such that
$\lim _{n \rightarrow \infty} g\left(x_{n}\right)=x$ and $\lim _{n \rightarrow \infty} g\left(y_{n}\right)=y$.
Thus by taking limit as $n \rightarrow \infty$ in (2), we get
$\mathrm{x}=\lim _{n \rightarrow \infty} \mathrm{~g}\left(\mathrm{x}_{\mathrm{n}}\right)=\lim _{n \rightarrow \infty} \mathrm{~F}\left(\mathrm{x}_{\mathrm{n}-1}, \mathrm{y}_{\mathrm{n}-1}\right)=\mathrm{F}(\mathrm{x}, \mathrm{y})$
$\mathrm{y}=\lim _{n \rightarrow \infty} \mathrm{~g}\left(\mathrm{y}_{\mathrm{n}}\right)=\lim _{n \rightarrow \infty} \mathrm{~F}\left(\mathrm{y}_{\mathrm{n}-1}, \mathrm{x}_{\mathrm{n}-1}\right)=\mathrm{F}(\mathrm{y}, \mathrm{x})$
Therefore, F and g have a coupled coincidence fixed point.

## ACKNOWLEDGMENT

The first author is very thankful to authors for their valuable suggestions and time.

## REFERENCES

[1] Shrivastava,Rajesh, Shashikant Singh Yadav, Yadava,R.N. Coupled fixed point theorem in ordered metric spaces, Int. J Eng. Res. Dev. Volume 5, Issue 1 (November 2012), PP. 54-57.
[2] D.W. Boyd, J.S. Wong, "On nonlinear contractions," Proc. Amer. Math. Soc. 20(1969), 458- 464.
[3] T.G. Bhaskar, V. Lakshminatham, "Fixed point theorems in partially ordered metric spaces and applications" Nonlinear Anal. TMA 65(2006), 1379-1393.
[4] Mustafa, Z, Sims, B: A new approach to generalized metric spaces. J Nonlinear Convex Anal.7 (2), 289-297 (2006)
[5] V. Lakshmikantham, Lj. Cirić, "Coupled fixed point theorems for nonlinear contractions in partially ordered metric spaces," Nonlinear Anal. 70 (2009), 4341 -- 4349.

Source of support: Nil, Conflict of interest: None Declared

